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2 [3: 3: 4: 4] times, 7 solid blocks, (5 open blocks, 4 
solid blocks) 2 [3: 3: 4: 4] times, 5 [3: 5: 1: 5] open 
blocks, 3 [0: 1: 0: 1] solid blocks, turn.
Row 8: As row 7.
Row 9: 3 ch (counts as first tr), miss tr at base of 
3 ch, 0 [2: 0: 0: 0] open blocks, 2 [4: 0: 4: 0] solid 
blocks, (5 open blocks, 4 solid blocks) 
3 [3: 4: 4: 5] times, 1 open block, (4 solid blocks, 5 
open blocks) 3 [3: 4: 4: 5] times, 2 [4: 0: 4: 0] solid 
blocks, 0 [2: 0: 0: 0] open blocks, turn.
Row 10: As row 9.
Row 11: 3 ch (counts as first tr), miss tr at base of 
3 ch, 0 [1: 4: 0: 4] open blocks, 1 [4: 4: 3: 4] solid 
blocks, (5 open blocks, 4 solid blocks) 
3 [3: 3: 4: 4] times, 3 open blocks, (4 solid blocks, 5 
open blocks) 3 [3: 3: 4: 4] times, 1 [4: 4: 3: 4] solid 
blocks, 0 [1: 4: 0: 4] open blocks, turn.
Row 12: As row 11.
Row 13: 3 ch (counts as first tr), miss tr at base of 
3 ch, 0 [0: 3: 0: 3] open blocks, 0 [4: 4: 2: 4] solid 
blocks, (5 open blocks, 4 solid blocks) 
3 [3: 3: 4: 4] times, 5 open blocks, (4 solid blocks, 5 
open blocks) 3 [3: 3: 4: 4] times, 0 [4: 4: 2: 4] solid 
blocks, 0 [0: 3: 0: 3] open blocks, turn.
Row 14: As row 13.
Row 15: 3 ch (counts as first tr), miss tr at base of 
3 ch, 4 [0: 2: 0: 2] open blocks, 4 [3: 4: 1: 4] solid 
blocks, (5 open blocks, 4 solid blocks) 
2 [3: 3: 4: 4] times, 7 open blocks, (4 solid blocks, 5 
open blocks) 2 [3: 3: 4: 4] times, 4 [3: 4: 1: 4] solid 
blocks, 4 [0: 2: 0: 2] open blocks, turn.
Row 16: As row 15.
Row 17: 3 ch (counts as first tr), miss tr at base of 
3 ch, 3 [0: 1: 0: 1] open blocks, 4 [2: 4: 0: 4] solid 
blocks, (5 open blocks, 4 solid blocks) 
2 [3: 3: 4: 4] times, 9 open blocks, (4 solid blocks, 5 
open blocks) 2 [3: 3: 4: 4] times, 4 [2: 4: 0: 4] solid 
blocks, 3 [0: 1: 0: 1] open blocks, turn.
Row 18: As row 17.
These 18 rows form patt.
Cont straight until back meas 11 [12: 13: 14: 15] 
cm, ending with RS facing for next row.
Next row (RS): 3 ch (does NOT count as st), 
miss tr at base of 3 ch and next 2 sts, 1 tr into next 
tr – 1 block decreased, patt to last 4 sts, tr2tog over 
last 4 sts, working first “leg” into next tr, missing 
next 2 sts and 2nd “leg” into last st – 1 block 
decreased, turn. 
57 [65: 71: 79: 89] blocks.
Working all decreases as set by last row, dec 1 
block at each end of 10th and 2 foll 10th rows.
51 [59: 65: 73: 83] blocks.
Work 23 rows, ending with RS facing for next row.
Next row (RS): 5 ch (counts as 1 tr and 2 ch),
1 tr into tr at base of 5 ch – 1 block increased, patt 
to last st, (1 tr, 2 ch and 1 tr) into last st – 1 block 

increased, turn. 53 [61: 67: 75: 85] blocks.
(Note: If point reached in patt means the increased
block should be a solid block, replace the (5 ch, 1 tr
into st at base of 5 ch) at beg of row with (3 ch, 3 tr
into st at base of 3 ch) and the (1 tr, 2 ch and 1 tr) at 
end of row with (4 tr).)
Working all increases as set by last row, inc 1 block 
at each end of foll 16th row. 55 [63: 69: 77: 87] blocks.
Cont straight until back meas 54 [55: 56: 57: 58] cm,
ending with RS facing for next row.
Shape armholes
Next row (RS): Ss across and into 4th [7th: 10th:
13th: 16th] st, 3 ch (does NOT count as st), miss 
2 sts, 1 tr into next st – 2 [3: 4: 5: 6] blocks 
decreased, patt to last 3 [4: 5: 6: 7] blocks, work 
next 2 sts as set by patt, tr2tog working first “leg”
into next tr, missing 2 sts and working 2nd “leg” 
into next tr, turn, leaving rem 1 [2: 3: 4: 5] blocks 
unworked - 2 [3: 4: 5: 6] blocks decreased.
51 [57: 61: 67: 75] blocks.
Keeping patt correct and working all decreases as 
set by side seams, dec 1 block at each end of next 
1 [3: 3: 3: 3] rows, then on foll 3 [3: 3: 4: 6] alt 
rows. 43 [45: 49: 53: 57] blocks.
Cont straight until armhole meas 16 [17: 18:
19: 20] cm, ending with RS facing for next row.
Shape back neck
Next row (RS): Patt first 11 [12: 13: 15: 17]
blocks, work next 2 sts, tr2tog working first “leg”
into next tr, missing 2 sts and working 2nd “leg” 
into next tr, turn, leaving rem sts unworked.
Cont on this set of 12 [13: 14: 16: 18] blocks only 
for first side of neck as folls:
Dec 1 block at neck edge of next 2 rows.
10 [11: 12: 14: 16] blocks.
Work 1 row, ending with RS facing for next row.
Shape shoulder
Fasten off.
Return to last complete row worked, miss centre 
17 [17: 19: 19: 19] blocks and rejoin yarn to tr at 
beg of next block.
Next row (RS): 3 ch (does NOT count as st), 
miss tr where yarn was rejoined and next 2 sts, 1 tr 
into next tr, patt to end, turn. 
12 [13: 14: 16: 18] blocks.
Dec 1 block at neck edge of next 2 rows.
10 [11: 12: 14: 16] blocks.
Work 1 row, ending with RS facing for next row.
Shape shoulder
Fasten off.

FRONT
Work as given for back to beg of armhole shaping, 
ending with RS facing for next row.
Shape armholes and divide for front neck
Place marker on centre block of last row.

YARN
 S M L XL XXL 
To fit bust  

81-86 91-97 102-107 112-117 122-127 cm 
 32-34 36-38 40-42 44-46 48-50 in
Fine Lace

5 5 5 6 6 x 50gm
(photographed in Cameo 920)

CROCHET HOOK
1.50mm (US 7 steel) crochet hook

TENSION 
38 sts and 20 rows to 10 cm measured over patt 
using 1.50mm (US 7 steel) crochet hook.

CROCHET ABBREVIATIONS
ch = chain; dc = double crochet; open block = 2 
ch, miss 2 sts, 1 tr into next tr; solid block = 2 tr 
into next ch sp (or 1 tr into each of next 2 tr), 1 tr 
into next tr; sp(s) = space(s); ss = slip stitch; tr = 
treble; tr2tog = (yoh and insert hook as indicated, 
yoh and draw loop through, yoh and draw through 
2 loops) twice, yoh and draw through all 3 loops 
on hook; yoh = yarn over hook.

BACK  
Using 1.50mm (US 7 steel) crochet hook make 
182 [206: 224: 248: 278] ch.
Foundation row (WS): 1 tr into 8th ch from 
hook, *2 ch, miss 2 ch, 1 tr into next ch, rep from 
* to end, turn. 
178 [202: 220: 244: 274] sts, 59 [67: 73: 81: 91] 
open blocks.
Now work in patt as folls:
Row 1 (RS): 3 ch (counts as first tr), miss tr at 
base of 3 ch, 0 [1: 0: 0: 0] solid block, 2 [5: 0: 4: 0] 
open blocks, (4 solid blocks, 5 open blocks) 
3 [3: 4: 4: 5] times, 1 solid block, (5 open blocks,
4 solid blocks) 3 [3: 4: 4: 5] times, 2 [5: 0: 4: 0] 
open blocks, 0 [1: 0: 0: 0] solid block, turn. (Note: 
Work tr at end of last block into top of 
3 ch at beg of previous row.)
Row 2: As row 1.
Row 3: 3 ch (counts as first tr), miss tr at base of 
3 ch, 0 [0: 3: 0: 3] solid blocks, 1 [5: 5: 3: 5] open 
blocks, (4 solid blocks, 5 open blocks) 
3 [3: 3: 4: 4] times, 3 solid blocks, (5 open blocks, 4 
solid blocks) 3 [3: 3: 4: 4] times, 1 [5: 5: 3: 5] open 
blocks, 0 [0: 3: 0: 3] solid blocks, turn.
Row 4: As row 3.
Row 5: 3 ch (counts as first tr), miss tr at base of 
3 ch, 0 [0: 2: 0: 2] solid blocks, 0 [4: 5: 2: 5] open 
blocks, (4 solid blocks, 5 open blocks) 
3 [3: 3: 4: 4] times, 5 solid blocks, (5 open blocks, 4 
solid blocks) 3 [3: 3: 4: 4] times, 0 [4: 5: 2: 5] open 
blocks, 0 [0: 2: 0: 2] solid blocks, turn.
Row 6: As row 5.
Row 7: 3 ch (counts as first tr), miss tr at base of 
3 ch, 3 [0: 1: 0: 1] solid blocks, 5 [3: 5: 1: 5] open 
blocks, (4 solid blocks, 5 open blocks) 
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43.5 [50: 54.5: 61: 69] cm
(17 [19½: 21½: 24: 27] in)
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